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MATH-101 Term-131 IN-Class-QUIZ-4, 5

1} Sketch the graph of a function f(x) that satisfies the following conditions:

lim f(x)=3  lim f(x)=40  f(-2)=-2 lim f()=-2 lim f(x)=-2

y—o-l-
f(2)=3 S4)=0 f25)=-5  f(4)=-1
f{x) has removable discount, at x = -1
fi(x) has vertical tangent at x = 1
ftx) has horizontal asymptote y = -2

J{x) has jump discount. at x =0
J{x) has infinite discount at x = 2
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3) Use the Intermediate Value Theorem to show that the [unctions f(x) = 2x> +4x* and
2(x)=x"+x —x* +4 intersect over the interval [0. 1].
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5) Use the definition of the limit to Prove that l_i_f)lg(?’-\' -5)=1.
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